RE. 8F. EMEEE

X=ANAR L2 RGB 354 HSV 8¢ HSL a7k,

LATREXITEZ PS Wik photopea BFEEEZTHIEE SN, TUENEEXEREFLE.

BILAE— MBI TIEN.

B¢ photopea 2% RGB #4 HSL ZS[akHAY, RGB 1 HSL @Y EEFERA AT KK,

BIEMRT, B5%EEE—T photopea AT
~- M

e

1O

Heh&aEaEseEZ (-180, 180), (BHIEMBAEAIETSEERZ (-100, 100), FEHZAIH
X=/NBIFEXINAETREL, B MR R EMAYT:
@i H RYiEE

&7 H SBEA 0-360, RESRGHRANEERZ srcH, MINREZEEE addH (-180<addH<18
0) FBLE:

newH = (srcH + addH) % 360

TaFIRE S A%

BFNE S SEEA 0-1, BERFEGEAVEFIER srcS, MAEEER addS (-100<addS<10
0), EEIE addS 2L 100 (BDIF—1k), AEEES:

s ﬁ * sreS  if addS =0
newS = -

(1+ addS) * srcS if addS <0



SE L RoEE

= LSEEA 0-1, {BR photopeo HILHAR R EREEEE, AN RGB FE, MEE
1£7E RGB |8 L T4abE.

RIZHEIMIRO &, IRFEREGERIEEN srcR, MANBEENSERE addL (-100<addL<100) ,
FESE addL R 100 (BDIA—1k), REEES:

B srcR +addL * (1—srcR) if addL =0
"CU TN sreR + addL * (sreR—0)  if addL <0

HithERe EE.

At A BEENFHPETER RN LEYRER—HF

FERE—#, RAEFELA—HWERLY. UTEXIEE, SRETNTLIERZIEMETBER 0-255.
BRIZHMNRAEER k, BBARIEN(k — 128)/128, FHUTFF—LAIIE, ZFREA AL
M EERIERES T,

7.19 18FE

MAME AR BBHIE Mono BT, BREEKREDRENSEBNE, AAREGHR
BEmMpitRE, FREQE LEXERHE. Biem. BEEXY.

W@ Color Transformation Control &4 TfY Saturation £%5#Ti8 8%, CEA
0 ~ 255,

18§ Saturation 5, Y£R8 Saturation H{EHTEMKRE, FREBMEXATE
Friiio

BREROMNENSENT:

1. @34 Image Format Control [ 1% #a{R % & 484/LAY Pixel Format £41 RGB # 3.

2. FBRBPRIE, RiKi§eE BRKTERY.

3. 715 Color Transformation Control [& 1% &) Saturation Enable £:%.

4. 1£ Saturation 2% i A\ W 218 B A .

v Color Transformation Control

[E7-32 WisafE

SIS EVETSFRISEISEE, ATLAEA photopea A5EE, tBRJLAUKITHE photope
a luiBahs&.



HSL #1 RGB RY5&i
FTERRBLERER, ATEERTAN, METAEBNFHA, GRATH—LHaEER.
1. HSL%Z RGB:

To RGB [edit]
Given a color with hue A = [0°, 360°), saturation S; € [0, 1], and lightness . & [0, 1]

C=(1-2L-1))x 8,

P
60°

X=Cx(1-|H mod2-1|)

- . .
H' is not necessarily an integer.

(C,X,0) if0<H <1

(X,C,0) fl1<H <2

) (0,c,X) if2<H <3

(B, G, By) = (0,X,C) if3<H <4
(X,0,0) if4<H <5

(C,0,X) if5<H <6

adding the same amount to each component to match lightness:

C

(R,G,B) = (Ry +m,G1 +m,B, +m)

2. RGB#: HSL:

From RGB |[edit]
Value must be in range R, G, B € [0, 1].

C = Xnax — Xuin = 2(V_L)

X nax X in
Li=mid(R,G,B) =~ t o _y
(0, ifC=0
60°.(G—;B mod6), ifV=R
H:={ oo (%7&), ifV=¢Gg
o R-G N
\60’(7‘*'4), ifV=B
{ 0, E V=X(max) B =0orL =1
St = c = N i .
1-2-C-1] ~— 1-]2L-1] = min(Z,1-L)’ otherwise



